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1.

16 Here is a shaded shape 430D,

B

A
The shape is made from a mangle and a sector of a cirele, centre @ and radius 6 cm.
O is a straight line.

Al= ldem
Angle AGD = |40
Angle OAD = T4°

Calculate the perimveter of the shape.
Giive your answer correct to 3 significant figures.

Ci

{ Total for Question 16 ks 5 marks)
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2.



19 Here is a nght-angled trinngle.

(=]

All measurements ane in centimieines.
The wrea of the triangle is 2.5 o’

Find the perimeter of the triangle.
Giive vour answer correct io 3 significant figures
Yo st show all of vour working.

CIm

{ Total Tor Cuestion 19 is & marks)
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3.



3 The diagram shows a rectangla.

Diagram NOT
accurately drawn

All measurements are given in centimeiras.
The penimeter of the rectangle 15 45 cm.

Work out the value of x.

(Total for Question 3 is 3 marks)
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4,



§ 4.

Diagram NOT
acourately dravm

Gom D 4om '3

AR ic a sector of a circle, canire O
LD iz a sector of 3 drcle, cenme 3
A and QDB are sraizht lines.

Angle 408 =75
oD =6cm
DE=4om

Calculate the perimeter of the shaded region
Give your answer correct to 3 sipnificant Sgures.

{Total for Question 22 is 3 marks)
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5.



13 Here is 3 rectangle.

Diiagram NOT

Tem accurately dranm

Bcm

The 3-zsided shaps below is mads fom 4 of these recrangles snd 4 congruent right-angled

mriangles.
/ Diagram NOT

accurately dravn

™

Werk out the perimeter of the S-sided shape.
You must showr all your working.

{Total for Question 13 is 5 marks)
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6.



9  The diagram shows 2 trapaziom.

A4 g

W

Diagram NOT
accurately dravm

D > c

AD=xcm

B is the same lensth as AD.
AR is twice the length of 4D
I is 4 om longer than AB.

The perimeter of the rapezimm is 38 cm.

Work out the length of AD.

(Total for Question 9 is 4 marks)
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8 ABC is a iangle.

Drizgram NOT
accurately drawn

Angle ABC = angle BCA.

The length of side 48 is (3x — 5) cm.
The length of side AC is {19 — x) cm
The length of side BC is Zr cm.

Work out the perimeter of the riangle.
Giive your answer as a number of centimetres.

{Total for Question 8 is 5 marks)
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10 The diagram shows a garden in the shape of a rectangle.

4+ 3x

Diagram NOT
accurately drawn

All measurements are in metres.
The perimeter of the garden is 32 metres.

Work out the value of x

{Total for Question 10 is 4 marks)
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0. Here is a tiangle ABC.

Daagram NOT
A accurately drawn
b i
C
&l m

]
AC =90 m.
B = 6l m.

Angle ACE = 130°.

Calculate the perimeter of the triangle.
Giive your answer correct 10 one decimal place.

{Total 4 marks)
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11
Diagram NOT
accurately drawn

dx+5

In the diagram, all measurements are in centimetres.
The lengths of the sides of the mangle ate
2x+9

r-3
dx+5

(2) Find an expression, in terms of x, for the perimeter of the wiangle.
Give your expression in its simplest form.

The perimeter of the riangle is 30 cm.
(t) Find the value of x.
2
(Total 4 marks)
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4  The diagram shows two rectangles, A and B.

Rectangle A

25cm

12cm

Rectangle B

Rectangle A has a width of 25cm and a height of 12cm.

The width of rectangle B is three times the height of rectangle B.

The area of rectangle A is equal to the area of rectangle B.

Find the perimeter of rectangle B.

Not to scale

cemreeenenne. M [5]
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7 The diagram shows a shape ABCDE.
The shape is made from a rectangle, a right-angled triangle and a quarter of a circle.

Mot to scale

41m

18m

F is the mid-point of BD.
AE = 18m and the perpendicular distance from C to AE is 41 m.

Work out the perimeter of the shape ABCDE.
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13.

6 The diagram shows a semi-circle inside a rectangle of length 120m.
The semi-circle touches the rectangle at A, B and C.

Not to scale

A G
120m

Calculate the perimeter of the shaded region.
Give your answer correct to 3 significant figures.

... m[5]
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14 A rectangle has length 60 cm and width 40 cm

Mot drawn
accurately

40 cm

60 cm

The length decreases by 15%
The width decreases by 10%
Sue says,
“The perimeter decreases by 25% because 15% + 10% is 25%"

|s she correct?

You must show calculations to support your answer.
[4 marks]
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15.

11 A large rectangle is made by joining three identical small rectangles as shown.

Mot drawn
accurately

The perimeter of one small rectangle is 15 cm

Work out the perimeter of the large rectangle.
[4 marks]

Answer cm
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16.
19 A pentagon is made from a square and an isosceles triangle.
Mot drawn
accurately
Mo 1257 M
12em 12em
W —l l_ W
€ 12em >
Work out the perimeter of the pentagon.
[4 marks]

Answer cm




